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1740
"TAKBERX" ZREMEE SR HRAY?

The Human Logical Levels was created by which author?

A) TRFFEIURZ (Robert Dilts)
Robert Dilts

B) iAW KH/R (Tom Mitchell)
Tom Mitchell

C) E#EXKIE (Peter Norvig)
Peter Norvig

D) HiE/R¥FZ & (Stuart Russell)
Stuart Russell

2/40
RIREEENRIEN, AIEMAIATERE (Al) IR

Trustworthy Artificial Intelligence (Al), as defined by the EU Guidelines, must...

A) EVEE3MBRKEETIFARRBIE.

have at least 3 UN sustainability measures.
B) MIRERERSISOINE.

be quality assured to ISO standards.
C) BCEAIL.

be CE marked.

D) RAREAIIA.

be technically robust.

3/40
ERRDIR. ...

An intelligent agent must be ...

A) EWH.
subjective.

B) JFEEMM.

irrational.
C) IEMM,

rational.
D) &EELEY.

empathic.
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BRERItE2ZREITETHRERAR SR R BRI —E 50 ?

Universal Design or Design-for-all are part of which international organization's
sustainability goals?

A) Jt=AKB

North American Space Agency
B) BXSE

United Nations
C) EXER

European Union

D) ZanARKAFFT

Future of Life Institute

5/40
BRERR M 7 R TERMAEMAIIATERE (Al) BUEN.

B T E—IRAgER?
The EU have published guidelines for Ethics and Trustworthy Artificial Intelligence (Al).

This is which of the following?

A) LRz
Environment-centric

B) LAl Aty
Business-centric

O Litsrhi
Social-centric

D) LAAZEAHI

Human-centric

6 /40
B MEFRRAIT AT T 1 TR R R B iR ?

Which world institution has published seventeen sustainability goals?

A) BXSE

United Nations
B) tHFRERZAHR

World Trade Organization
C) HARZFICIE

World Economic Forum

D) tHFRRIT
World Bank

EXIN BCS
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7/40
IBMBSRIERHSIHEEF S (ML) RIRIOML 7 53k,

BAEB—H T 7R ERSEEE?
IBM's Deep Blue has contributed to the success of Machine Learning (ML).
In what year did it beat the world chess champion?

A) 19775
1977

B) 20174
2017

C) 20074
2007

D) 19974
1997

8/40
MIEBANREEXL THREFES (ML) ?

Who is widely regarded as the person who defined Machine Learning (ML)?

A) Bik-#FEEL (Ada Lovelace)
Ada Lovelace

B) 7 KH/R (Tom Mitchell)
Tom Mitchell

C) BHE-E/R (Wendy Hall) kA
Dame Wendy Hall

D) SxZ-ERERE (Marvin Minsky)
Marvin Minsky

9/40
EREMER T — TR ERIERE?

An intelligent agent uses which of the following to manipulate its environment?

A) IIBEAIRITES
Stereography and actuators
B) =EfIHITEE
Sound and actuators
C) (ERESFIhITES
Sensors and actuators
D) McFIHITEE
Sight and actuators
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10/ 40
NBASBR—HBIA?

How many robot paradigms are there?

A) =
Three
B) WM
Four
c) &N
Five
D) <1
Six

11740
ET ARSI SE T BiriIE A N X B ET Cl B S e rIB 5 mE?

A utility-based agent differs from a goal-based agent in that it measures an agent's what?

A) ZERE
Resource usage
B) SERUERE
Speed of completion
0 F¥I=x
Learning rate
D) =1ERk
Happiness

12 /40
e AR BT —IAEEA?

An intelligent robot is a robot that uses which of the following?

A) =N
Objectivity
B) EEL
Empathy
Q) B=x
Autonomy
D) AIE#E (Al)
Artificial Intelligence (Al)
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13/40
FEATERE (A) &, BRHABETERRBANEINEFBITHR TR NG TIER?

In Artificial Intelligence (Al), what perceives its environment through sensors and acts on its
environment through actuators?

A) EgeK
An agent
B) A%
A human

C) BIXMEEA
A chatbot

D) #l&%

A machine

14/ 40
REFIRTRRET AR

Reflex and Model-based are types of what?

A) M2EF3 (ML) &%

Machine learning (ML) algorithms
B) Zrit#dE

Statistical Data
C) ATIEgE (Al) ek

Artificial Intelligence (Al) agents
D) #iTes

Actuators

15740
B LM THEREXEET . AUKIFNSCHERN AT,

FEAMNIZIESHARE?
The top-down hierarchical paradigm is built from , plan and act.
What is the missing term?

A) IBfE
understand

B) &=
sense

0 &ix
feedback

D) %3
learn
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16 / 40
ATERE (Al) EIERENREEPRRBAAMTASTRR BRI EEEEX?

The percept and action in the schematic of an Artificial Intelligence (Al) learning agent are
linked closely to what in the robotic paradigm?

A) RERIFICHE

Sense and act
B) CriticFlia@REmkEs

Critic and problem generator
C) HwWNEEFFIITER

Sensors and learning element
D) CriticAl>rTE

Critic and learning element

17 /40
ASERINMENMESBITRRRIIATERE (Al) SEAIAES EME—BCRIRNERE?

Human values will drive change by aligning future Artificial Intelligence (Al) with our...

A) TR EBR
sustainability goals.

B) RREAEFEN
EU ethical principles.

C) FREFNSIEHER
future of life Utopia goals.

D) =&

laws.

18 /40
SRS USZ B HERTEE. ... -9—85.

Finding the balance between under-fitting and over-fitting is part of knowing what is...

A) E&IEE.

fit for consumption.
B) &UEScrumBir.

the Agile Scrum objective.
C) HEBE.

fit for purpose.

D) ®EmIiE Bir.
the Waterfall project objective.
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19/40
INRATERE (Al) TNEEABARZLATHREL, NRATRESEAITIRAIKK?

An Artificial Intelligence (Al) project is highly likely to fail if the Al project team does not
have which of the following?

A) EXER
Project focus

B) WHER
Domain expert

C) =&
Facilitator

D) WEXHHE

Business champion

20/ 40
ﬁ?&%ﬁ%@i@ﬁﬁ (Gartner) E2018F TSR, BEALLAIATERE (Al) IE "HREER
N

7|

According to Gartner in 2018 what percentage of Artificial Intelligence (Al) projects ‘fail to
deliver’ ?

A) 0.65
65%
B) 0.75
75%
C) 0.85
85%
D) 0.95
95%

21/40
"FEER BENXEHIERERN?

Who defines what is 'fit for purpose'?

A) EEK

Chairperson
B) MBREA
Project Lead
C) Scrum Master
Scrum Master
D) {EE=R
Domain Expert

EXIN BCS
Artificial Intelligence
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22 /40
ATIRTUR S8 RRIEHA (TRL 1-3) ATHERE (Al) BERREFRIR?

Which of the following is a typical early stage (TRL 1-3) Artificial Intelligence (Al) project
funder?

A) ZEETI
Charity

B) A&
Stock market

O 17
Investment bank

D) EEENS
Building society

23 /40
LATRBI T2 (ML) TERIFTEMEEMRER?

Which of the following is useful at all stages of a Machine Learning (ML) project?

A) EMEXNSR

Object orientation
B) HuERIAL

Data visualization
0 =it&E

Cloud computing

D) FiEPython
Open source Python

24/ 40
IR THlee¥> (ML) 3489757

Which of the following is an example of Machine Learning (ML) software?

A) Fortran
Fortran

B) C++
C++

C) Tensor flow
Tensor flow

D) Objective C
Objective C
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LA BRI e HR IS AR R AYESS ?

Which of the following is a task in preparing data?

A) HIBREGERIRENLEE

Delete a random sample of data
B) RBIRRKCEIE

Identify missing data
C) InEEuE

Encrypt data
D) RTER

Publish results

26 /40

TUHrR 2R T 21 3R BRI RERI R LA BRIV SR

F/7?

=%IN

Bayes's networks describe how multiple variables may have influenced a result using what?

A) FIOHRRERER

The central limit theorem
B) #H&o%

A probability distribution
Q) BH%t

Ergodic statistics

D) MR

Inference

27 / 40
REMRDENA..... L,

Vector Calculus is the theory that uses...

A) KFOAIRIER,
summation and gradients.
B) MDHIED.
integration and differences.
C) M.
integration and differentiation.

D) HZIFIHEE.

series and gradients.

EXIN BCS
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28 /40
NEFET (ML) | BESFHIR EERFEI .

ATIIMX—BR, FETA?
Machine Learning (ML), 'learns from experience' by analyzing data.
What is needed to do this?

A) Ihgg. TFNEEM:

Functionality, Software and Hardware

B) Python, Paraview#[Linux
Python, Paraview and Linux

C) ZMARE. MERZF/FTFMHMN
Linear algebra, probability/statistics and optimization
D) =it&. FRIMHFIEE
Cloud computing, open source software and an algorithm

29 /40
ATHERLE (ANN) 2EHARRI?

An artificial neural network (ANN) is made up of what?

A) [ESRERATSAR
Hidden synapses
B) EHEXRIT MEF
Inter-connected group of nodes
C) ELk
Nervous edges
D) MR
Dendritic nodes

30/ 40
MNEFFEI (ML) SIPMEFEREX?

Which mathematical subject is associated with Machine Learning (ML)?

A) JGEDHT
Spectral analysis

B) S%&

Complex variable
O #ie

Number Theory
D) ettty

Linear Algebra

=%IN
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31/40
AR ZERT LA FLAR(RAIR A IR A T /%% (ANN) ?

What type of library can be used to build an Artificial Neural Network (ANN) cost
effectively?

A) FrREE

Open source

B) hrAE
Copyright

C) tnERE
Standards

D) EXE
Medical

32/40
PR, pdfREE(tA?

In statistics, what does the term pdf stand for?

A) REEEERE

Pointwise Discrete Function
B) RSEERE

Pointwise Density Function
C) MEEEIERE

Probability Discrete Function

D) HiRBEREL
Probability Density Function

33/40
MBS, BEERIBHATES?

In supervised learning an agent uses what to learn from?

A) REHEE

Random data
B) tRICEURE
Labeled data

C) FLrrcEuR
Unlabeled data

D) sCiu%dE

Experimental data
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34/40
BRFREE AT EERE (Al) THEERIAIERERER?

What type of narrow Artificial Intelligence (Al) functionality is useful to Al agents?

A) BEIRAYAI
Conscious Al

B) {SEEITZHE

Fourier Transform
C) EAAI

Artificial General Al
D) #xl

Planning

35/40
NS RABINBEAFAET T7B—BRIN FBEZ6I?

Robotic surgery is used today and is an example of which of the following?

A) AHUDME

Human and machines working together
B) BEATERE (Al

Autonomous Artificial Intelligence (Al)
C) IRXAI

Narrow Al

D) BEHEEA

Autonomous robotics

36 /40
Daugherty#IWilsonfE { AZL+#188) —BHXI+AHT T I-EA?

Daugherty and Wilson have identified what in their book on Human Plus Machine?

A) IEUHN=EA
Monitoring the robots

B) GKAeIEDiS
Missing middle

O EBEXEIME

Menial low value work

D) HEHIRRARIIE
Checking the robots work
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37740
PHMEAEAR LET AEhI ?

Which project style is fundamentally 'learning from experience'?

A) gEX
Agile

B) &I
Waterfall

O S

Mentoring

D) &t

Autocratic

38/40
f£DaughertyfIWilsonRIE(E (AE+H188) &, BRMSILHTmRIIRESIL?

In Daugherty and Wilson's book Human plus Machine, what is described as a desirable
culture?

A) EECIEA
Desire to be transparent
B) BEEZR
Desire to experiment
C) BECHIAIFEEM
Desire to be sustainable
D) B2 "BIRIEH"
Desire to be 'right first time'

39/40
BRI BHEFET?

What is a computer program that works out where to park aircraft at an airport an example
of?

A) EiRERE

Conscious intelligence
B) BAAIERE (Al

Artificial General Intelligence
C) kX (58) &g

Narrow (Weak) Intelligence

D) Bk

Automation

i #£45 EXIN BCS Atrtificial Intelligence Foundation (AIF.CH)
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0%, AEAHERICNE M T FaRIF SRRk ?

Today, ambiguous and creative tasks are better undertaken by what?

A) 8%
Algorithms

B) Ak
Humans

C) BIXMEEA
Chatbots

D) BRATIER (Al)
Artificial general intelligence

=%IN
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1740
"TAKBERX" ZREMEE SR HRAY?

The Human Logical Levels was created by which author?

A) ZR%FEIRZ (Robert Dilts)
Robert Dilts

B) A KY)/R (Tom Mitchell)
Tom Mitchell

C) &K (Peter Norvig)
Peter Norvig

D) HiE/R¥FZ & (Stuart Russell)
Stuart Russell

A) IET:% BEXMERATHERERFREFICEBAESNE (NLP) BEEREINE, TMIE
ATERE (Al) UHAIEMDIEIE.
Correct. Straight forward question to remember the person who wrote the Natural Language
Processing (NLP) logical levels. Distractors are other contributors to the field of Artificial
Intelligence (Al).

B) fHIR.
Incorrect.

C) %EEEO
Incorrect.

D) iHIR.
Incorrect.

EXIN BCS
Artificial Intelligence
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2/40
BRI ENRIENY, AIEMAIATERE (Al) DR

Trustworthy Artificial Intelligence (Al), as defined by the EU Guidelines, must...

A) EVEE3MEAE EAHSAREAE.

have at least 3 UN sustainability measures.
B) HRERERSISOINE.

be quality assured to ISO standards.
C) BCEAIL.

be CE marked.

D) RAREAIA.

be technically robust.

A) iR,
Incorrect.
B) iHix.
Incorrect.
0) iR,
Incorrect.
D) IEffs, EREDENISHEAREMRIN T ERAIRIEMTETR. THISRILZ &G,
Correct. The EU guides put technical robustness in the fundamental process of ethical Al. The
distractors are plausible alternatives.

3/40
ERRDIR. ...

An intelligent agent must be ...

A) EWH,
subjective.
B) IEIEMHY.
irrational.
C) IEMHM,
rational.
D) &EELEY.

empathic.

A) iR,
Incorrect.

B) iHIR.
Incorrect.

C) IEff. EATERE (Al) Eigth, BREAIAIMBR LIKETIEN, A/FHEMATH., FIHIEAS
A9RES], RARRKAIBERIE,
Correct. In Artificial Intelligence (Al) theory the intelligent Al relies fundamentally on being
rational and that it will act rationally. The distractors are the human capabilities on which our
future roles will build from.

D) iHiR.
Incorrect.

i1 #£% EXIN BCS Atrtificial Intelligence Foundation (AIF.CH) 20
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4740
BRERItE2ZREITETHRERAR SR R BRI —E 50 ?

Universal Design or Design-for-all are part of which international organization's
sustainability goals?

A)
B)
0

D)

A)
B)

0

D)

BlE=SIPNS

North American Space Agency
BREE

United Nations

e

European Union
EaAKARAT

Future of Life Institute

gi%o

Incorrect.

HIx

Incorrect.

IETJﬁfo BREBRUCHIERMER, B "Rt (Design for All) EAATHERE (Al) B9—LHZ0
R, BERBAERUAIBRs0EN,

Correct. The European Union is the leading international organization that puts Design for All
as a key requirement in Artificial Intelligence (Al). The other organizations have similar goals
or principles.

Hix

Incorrect.

Artificial Intelligence

EXIN BCS
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5740
BREAAR T T X TERMAEHAIIATERE (Al) BUER.

Bl TE—TIAgEN?
The EU have published guidelines for Ethics and Trustworthy Artificial Intelligence (Al).

This is which of the following?

A) LUNEHIL
Environment-centric

B) LAy
Business-centric

C) Lty
Social-centric

D) LAAZEAH

Human-centric

A) iR,
Incorrect.

B) 3Hix.
Incorrect.

0) iR,
Incorrect.

D) IFf. AIZIEMR), BomE— 1 Bir. AT EERBREREN, BReBAAFO. FHIERLL
B, REUREREREIFRE,
Correct. Al is rational and must have a goal. In order for these to follow the EU ethical
guidelines the goals must be human centric. The distractors are plausible and from subjects
such as sustainability and business.

EXIN BCS
Artificial Intelligence
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6/40
BB M FRRATH A T 1 TR LA R B FR?

Which world institution has published seventeen sustainability goals?

A)
B)
0

D)

A)

B)
0

D)

BKaE

United Nations
HRRBAHR

World Trade Organization
HREFCIE

World Economic Forum

HRRIT
World Bank

IEf, AEHEERFRUMFEENERER. Bt IR EERNES.,
Correct. The answer is a straightforward recall of information. The other distractors are
organizations that play a part elsewhere in the course.

HIx

Incorrect.

gi%o

Incorrect.

gi%o

Incorrect.

7/40
IBMBGRIERHIEEFS (ML) BIRIOEH T 53k,

EER—FIN T HRERRIEEE?

IBM's Deep Blue has contributed to the success of Machine Learning (ML).

In what year did it beat the world chess champion?

A)
B)
0

D)

A)
B)
0

D)

19774
1977

20175
2017
20074
2007

19974
1997

Eti%o

Incorrect.

Eti%o

Incorrect.

Hix.

Incorrect.

IEf, AEHEERFRYMFEENERER.

Correct. The answer is a straightforward recall of information.

Artificial Intelligence

i #£45 EXIN BCS Atrtificial Intelligence Foundation (AIF.CH)
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8/40
MIEBARREEXL THREFES (ML) ?

Who is widely regarded as the person who defined Machine Learning (ML)?

A)
B)
0

D)

A)

B)

0

D)

L B)EE22 (Ada Lovelace)
Ada Lovelace

- KY)/R (Tom Mitchell)
Tom Mitchell

BE-E/R (Wendy Hall) kA
Dame Wendy Hall

S3-BAERE (Marvin Minsky)
Marvin Minsky

gi‘%o

Incorrect.

IEffs, EFRFRYTHRFZIBXREEMNEERBR. THIVNRERHIAEM ALY,

Correct. Again, a straightforward recall of information on ML. The distractors are other people
described in the course.

gi‘%o

Incorrect.

gi‘%o

Incorrect.

9/40

=

EAER T —LERIBRM CRIARIR?

An intelligent agent uses which of the following to manipulate its environment?

A)
B)
9]

D)

A)
B)

0

D)

AN A TER
Stereography and actuators
EEMHITES

Sound and actuators
BRI TR

Sensors and actuators
A TES

Sight and actuators

Eti%o

Incorrect.

Eti%o

Incorrect.

IEff, ARERESESATERE (Al) FIERFERER. TS IERSEREH T,
Correct. This question is to test a candidates recall of the Artificial Intelligence (Al) learning
agent. Distractors are plays on the correct answers.

Eti%o

Incorrect.

Artificial Intelligence

EXIN BCS
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10/ 40
NBASBR—HBIA?

How many robot paradigms are there?

A) =
Three
B) WM
Four
c) &N
Five
D) <1

Six

A) IEff. FAE=FRATERN, XNEFNSAMATIERE (Al) AMIERLIESEEEERNER.
Correct. There are three robotic paradigms, this plays an important part in the understanding
of how robotics and Artificial Intelligence (Al) have similar concepts.

B) iR,
Incorrect.

0 iR,
Incorrect.

D) &R,
Incorrect.

11740
ET RS SE T BrRERANX AT Cl &S 8errIm5mE?

A utility-based agent differs from a goal-based agent in that it measures an agent's what?

A) RiFRE
Resource usage
B) STRUERE
Speed of completion
C) FI=R
Learning rate
D) @Rk
Happiness

A) iHIX,
Incorrect.

B) $&ix.
Incorrect.

Q) iR,
Incorrect.

D) IFffs, RAERMKKEMTIEY, ENAEENLURARGE—NAELRBERTEZRE. FHIRNE
BEARIER.
Correct. Although agents rely on rationality, a utility measure can be used to measure how
happy a person is in achieving a goal. Distractors are plausible but incorrect.

EXIN BCS
Artificial Intelligence
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12 /40
et AZFBLL T B—TIRHEEA?

An intelligent robot is a robot that uses which of the following?

A) =W
Objectivity
B) AEIEL
Empathy
0 BE

Autonomy

D) AIE#E (Al)
Artificial Intelligence (Al)

A) iR,
Incorrect.
B) iHix.
Incorrect.
C) iEiR.
Incorrect.
D) IEffs, AEERFRMNFETFRIEENERERL. TR FEIE.
Correct. This question is a simple recall of information in the course. Distractors are plausible
alternatives.

13740
EATERE (A) B, BHHABIERSERAMEF RIS TR R TER?

In Artificial Intelligence (Al), what perceives its environment through sensors and acts on its
environment through actuators?

A) EEEER
An agent
B) A%
A human

C) BIXHEEA
A chatbot

D) #l=§

A machine

A) I, EFRFRGTAFIERMEXEENEREBR. THIRNETAIERAFIIENEX.
Correct. Again, a straightforward recall of information on the Al learning agent. The distractors
are mentioned in the course but are not part of the formal definition of an agent in Al.

B) $&ix.

Incorrect.

0) &R,
Incorrect.

D) $&ix.
Incorrect.

EXIN BCS
Artificial Intelligence
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14/ 40
RESFIETREE T ARISEEL?

Reflex and Model-based are types of what?

A) H2ZF3 (ML) &%

Machine learning (ML) algorithms
B) #itEuE

Statistical Data
C) AIEgE (Al) &EHeelk

Artificial Intelligence (Al) agents
D) T8

Actuators

A) iR,
Incorrect.

B) iHix.
Incorrect.

C) IFffs, NERERRERESHE, HIIFEARRENEREARHABIINEES. FEERELER
ERGIRBI HRFRAIE BER.
Correct. From the basic idea of an agent we need different types of agent to describe how
they operate. The question asks if the candidate can identify two types of Al agent.

D) fHiR.
Incorrect.

%

EXIN BCS
Artificial Intelligence
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15/40
B LM RSB EET . FUFOSEREERNZAY.

FRLCNIZIESHARE?

The top-down hierarchical paradigm is built from , plan and act.

What is the missing term?

A)
B)
0

D)

A)

B)

0

D)

bl
understand
BN
sense

%
feedback
F3]

learn

gi%o

Incorrect.

IEffs, ERFRERICHENBAERRITER. FHIETHRARBEEN#EIAS .

Correct. Can the candidate remember an element from the robotic paradigms. Other answers
are distractors based on possible alternatives ways to describe a robot.

gi%o

Incorrect.

Hix

Incorrect.

Artificial Intelligence
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16 / 40
ATERE (Al) EIERENREEPRRBAAMTASTRR BRI EEEEX?

The percept and action in the schematic of an Artificial Intelligence (Al) learning agent are
linked closely to what in the robotic paradigm?

A)
B)
0

D)

A)

B)
0

D)

REKIFNSChE

Sense and act
CriticR0iRIRRA=pl=%

Critic and problem generator
RNERFIFI TR

Sensors and learning element
CriticFN¥3JtE&

Critic and learning element

IEffs, EFRFREREBRBIXTHERAMAIEARIKEES.

Correct. This question is to test if the candidate can identify the similar concepts of robotics
and Al agents.

HIx

Incorrect.

gi%o

Incorrect.

gi%o

Incorrect.

17/ 40
AZENNENEBEARRPOATER (A) SEAMNESEnE—ECRIRENEEE?

Human values will drive change by aligning future Artificial Intelligence (Al) with our...

A)
B)
9]

D)

A)

B)
0

D)

AR R B
sustainability goals.
RRERIEEEN

EU ethical principles.
REEFNSITHBERR
future of life Utopia goals.
EXES

laws.

I, BRENMEEN, BREERRFRARBIMIBAESLE (NLP) AKEERBEXEENEER
. FITBRIUEIE, EAMETSH—REE. BREEMAXMEMEINTFEEAREERERRR.
Correct. Can the candidate use the information from the EU guidelines, UN sustainability goals
and Natural Language Processing (NLP) Human modelling subjects to pick the answer. The
distractors are plausible but not as powerful as aligning EU, UN and human values to achieve
sustainable goals.

Eti%o

Incorrect.

Hix.

Incorrect.

Eti%o

Incorrect.

Artificial Intelligence
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SRS UEZBNTFHEBTZE. ... 89—885.

Finding the balance between under-fitting and over-fitting is part of knowing what is...

A) EEH#,

fit for consumption.
B) #dEScrumBir,

the Agile Scrum objective.
C) HFEBE.

fit for purpose.

D) ZEmIB Bir.
the Waterfall project objective.

A) iR,
Incorrect.

B) %Ellfo
Incorrect.

C) IFfa. ERER/ICHEZWINTEN "FEEN" BEEEEFANED. THIRINESEIE.
Correct. This questlon asks the candidate to recall the important part the domain has in
defining what is fit for purpose. Distractors are plausible alternatives.

D) HIR.
Incorrect.

19/ 40
SRATER (Al) TEFARZLATERE, MRATBESEHAIBAIKK?

An Artificial Intelligence (Al) project is highly likely to fail if the Al project team does not
have which of the following?

A) IEXER
Project focus

B) ‘LR
Domain expert

C) #zE
Facilitator

D) SS37HFE

Business champion

A) iR,
Incorrect.

B) IFfff, EREXRICHEZIEXTHE "HEEN BEEEEFAIED. THHISRILZ &k,
Correct. This questlons ask the candidate to recall the important part the domain has in
defining what is fit for purpose. Distractors are plausible alternatives.

0 HBiR.
Incorrect.

D) iR,
Incorrect.

EXIN BCS
Artificial Intelligence
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ﬁﬁ%’%ﬁwgi@ﬁﬁ (Gartner) 7E2018FATHAIEIE, BEALHINATERE (Al) TE "REExX
3" ?

According to Gartner in 2018 what percentage of Artificial Intelligence (Al) projects ‘fail to
deliver” ?

A) 65%
65%
B) 75%
75%
C) 85%
85%
D) 95%
95%

A) $HiR,
Incorrect.
B) f&ix,
Incorrect.
C) IEffs, ERELERAICHAIIIEMRINATAREM.
Correct. Test the recall of a candidate about the likelihood of Al projects being successful.
D) &R,
Incorrect.

21/40
"FEER BENXEHIERERN?

Who defines what is 'fit for purpose'?

A) EEK
Chairperson
B) MER/REA
Project Lead
C) Scrum Master
Scrum Master
D) {EE2R
Domain Expert

A) iR,
Incorrect.
B) #Hix,
Incorrect.
Q) iR,
Incorrect.
D) IFffs, ERELEZATEEMIAERAVER. FMIHRNSGHE.
Correct. Asks the candidate if they have understood fully what the role of the domain expert
is. Distractors are plausible
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ATIRTUR S RRIEHA (TRL 1-3) ATHERE (Al) BERREFRIR?

Which of the following is a typical early stage (TRL 1-3) Artificial Intelligence (Al) project
funder?

A)
B)
0

D)

A)

B)
0

D)

EET
Charity

i g8]

Stock market
BT

Investment bank
BEEEhS
Building society

IEf, ERERICEERURARHNARINBREMRS, FHEEERNEEHNEEXIR.
Correct. Test if the candidate had remembered who is likely to fund an early research stage
project. Distractors are typical funders of later stage projects.

HIx

Incorrect.

gi%o

Incorrect.

gi%o

Incorrect.

23 /40
UL FHlee%S (ML) TERIFEMEREMRERA?

Which of the following is useful at all stages of a Machine Learning (ML) project?

A)
B)
9]

D)

A)

B)

0

D)

ERXIR

Object orientation
R

Data visualization
=itE

Cloud computing
FrEPython

Open source Python

Eti%o

Incorrect.

Ff. FIETMUEMLPREEEE(ER, ARERELRRICEX—MRA. THMIEMLAYE R
13,

Correct. Data visualization plays an important role in ML, this question test the recall of the
candidate as to this fact. The distractors are other areas of ML.

1N

Incorrect.

Eti%o

Incorrect.

Artificial Intelligence
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LINBRIUE THLIER S (ML) 34R97R51?

Which of the following is an example of Machine Learning (ML) software?

A) Fortran
Fortran

B) C++
C++

C) Tensor flow
Tensor flow

D) Objective C
Objective C

A) iR,
Incorrect.
B) iHix.
Incorrect.
C) IEfa. Tensor flowEFMLEE, FMIUEEABAVRIHUIDERIDREL,
Correct. Tensor flow is a specific example of ML software. The distractors are general software
codes or types of coding style.

D) &R,
Incorrect.

25 /40
AT S SR R A ESS?

Which of the following is a task in preparing data?

A) HIPREHEAIREENE
Delete a random sample of data
B) RBIGRKELE
Identify missing data
C) =R
Encrypt data
D) KH4&ER

Publish results

A) iHIX,
Incorrect.

B) IEffs, AR 7EHITHIRRFS (ML) MBRNRBIGRAEGRERIES. TINTSRILGIE, (BARIER,
Correct. This question emphasizes the task of identifying missing data when undertaking a
machine learning project. The distractors are plausible tasks but not correct.

0) &R,

Incorrect.

D) $&ix.
Incorrect.
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U HRR & RRE T 21 3 BRI Rexd I LA T RIRAYEE R =500 ?

Bayes's networks describe how multiple variables may have influenced a result using what?

A)
B)
0

D)

A)
B)
0

D)

IO PR ETER

The central limit theorem
S

A probability distribution
BHSET

Ergodic statistics

FEERT

Inference

gi‘%o

Incorrect.

HIx

Incorrect.

gi‘%o

Incorrect.

Eff, AEEREERTTEWN IONESS (ML) BARANHERETELRN, THIR
FOHFHFAR,

Correct. From the basic theory of statistics, this question asks the candidate to recall what
popular Machine Learning (ML) technique is derived from Bayes' theorem. The distractors are
topics in the mathematical subject of statistics.

27 / 40
REMRDENA..... L,

Vector Calculus is the theory that uses...

A)
B)
9]

D)

A)
B)

0

D)

IFOAIRIER,

summation and gradients.
ROED.

integration and differences.
DD FIG

integration and differentiation.

HPINEERE.

series and gradients.

Eti%o

Incorrect.

Eti%o

Incorrect.

IFff, ERERICHEPHREMRDBTHEFR. FIIRUESEER, (BAIER.

Correct. Asks the candidate to recall what vector calculus is as a mathematical subject. The
distractors are plausible alternatives but are not correct.

Eti%o

Incorrect.

Artificial Intelligence
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NEFET (ML) |, BESTHIR EERFEI .

ATEMX—BR, FEHA?

Machine Learning (ML), 'learns from experience' by analyzing data.

What is needed to do this?

A)
B)
0

D)

A)

B)
0

D)

TORE. B4R

Functionality, Software and Hardware

Python, Paraview#Linux

Python, Paraview and Linux

SR IERF/RITFMRIL

Linear algebra, probability/statistics and optimization
~it&. FRRAFEE

Cloud computing, open source software and an algorithm

IEf, ERER/ICEMUIRBN=AEMA. FMHIEINEE. PWHFRARIEAREER.

Correct. The candidate is asked to recall what are three main topics to a machine learning
project. The distractors are subjects or elements of functionality, software and hardware
HiRo

Incorrect.

gi%o

Incorrect.

HiR.

Incorrect.

29 /40
ATH#ERE (ANN) 2EHAERI?

An artificial neural network (ANN) is made up of what?

A)
B)
0

D)

A)

B)

0

D)

FeRAIS R

Hidden synapses

BEXAYT EE

Inter-connected group of nodes
R

Nervous edges

PHAT R

Dendritic nodes

Eti%o

Incorrect.

Fi, ERELREZANNZBEAAEMDY. FIZRRMEAHENEREERNAL, BFAER.
Correct. When building an ANN, the candidate is asked what it is made up of. The distractors
are words used to describe the schematic of a Neural Network but are not correct

1N

Incorrect.

Eti%o

Incorrect.

Artificial Intelligence
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MNEEFS (ML) SEBMEFEFRIEX?

Which mathematical subject is associated with Machine Learning (ML)?

A)
B)
0

D)

A)
B)
0

D)

D
Spectral analysis
ko

Complex variable
#ie

Number Theory
SHE

Linear Algebra

gi%o

Incorrect.

HIx

Incorrect.

gi%o

Incorrect.

T.Efﬁo SMREEETTEN EHTMUSEIN—EMFER, FHIERMEFFR, EFREMLNE
E o

Correct. Linear Algebra is a fundamental subject that is required in order to undertake ML on
a computer. The candidate is asked to recall this. The distractors are other mathematical
subjects but are not fundamental to ML.

31/40
IRFR ZEe] LA FLAR(RAIR AU A T MZE (ANN) ?

What type of library can be used to build an Artificial Neural Network (ANN) cost
effectively?

A)
B)
0

D)

A)

B)

0

D)

FrREE

Open source
RN
Copyright
=35
Standards

EZE
Medical

IEff, EREDICHEEMENSRFS (ML) ANNE, FRRGEEERANE, FHITERNEGHE,
IR

Correct. The candidate is asked to recall that open source software is cost effective in building
a Machine Learning (ML) ANN. The distractors are plausible distractors but not correct.

Eti%o

Incorrect.

H 2

BHlXo

Incorrect.

Eti%o

Incorrect.

Artificial Intelligence
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EFTEF, pdftRMHA?

In statistics, what does the term pdf stand for?

B) =
0

D)

A)
B)
0

D)

RS ERREL

Poth|se Discrete Function

RS EREL

Pointwise Density Function
TRRES IR EL

Probability Discrete Function
BT

Probability Density Function

%El*o
Incorrect.

%Ellfo
Incorrect.

%El*o
Incorrect.

IEffs, EFRERICEpIIRMERTERE. THIRS TEENEN, EP—NMaNET
Correct. The candidate is asked to recall accurately that pdf stands for probability density
function. The distractors are deviations of the true definition with one of the words changed.

33/40
FEWEFIH, EReRFIRAARTES?

In supervised learning an agent uses what to learn from?

A)
B)
9]

D)

A)

B)

0

D)

BELEERE
Random data
FRICEE
Labeled data
TohRCEHE
Unlabeled data
SCISEE

Experimental data

%EIEEo
Incorrect.

IFHf, EREDCEREFIERMREIE. SEEMcEE. TR EESERISIE,
IR

Correct. The candidate is asked to recall what type of data is used on supervised learning. This
is labeled data. The other types of data that make up the distractors are plausible but not
correct.

%Elio
Incorrect.

%EIEEo
Incorrect.

Artificial Intelligence
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BRFREE AT EERE (Al) THEERIAIERERER?

What type of narrow Artificial Intelligence (Al) functionality is useful to Al agents?

A)
B)
0

D)

A)
B)
0

D)

BRIRAAI
Conscious Al

EEEE]Iy i

Fourier Transform
1ERIAI

Artificial General Al
il

Planning

gi%o

Incorrect.

HIx

Incorrect.

gi%o

Incorrect.

I, EHl2EF (ML) I, HKIRAISREARRECEL ARy —Fh AT 6E, TIIERINGEE, BR
FAIFIEF AIE L.

Correct. In Machine Learning (ML) planning is a typical type of functionality that an Al agent
would use to achieve a goal. The distractors are plausible but are made up from other area of
Al and Mathematics.

35740
NS RABINBRAFAET TB—BRIN BEZ6?

Robotic surgery is used today and is an example of which of the following?

A)
B)
9]

D)

A)

B)
0

D)

AHIE

Human and machines working together
BEATIER (Al)

Autonomous Artificial Intelligence (Al)
RN AL

Narrow Al

BE=RA

Autonomous robotics

IEfa, HRAEETIEREPIMEIESE, RN, XEAVMMERNRE. FHIRINSHE,
{BAIER.

Correct. Robots are helping surgeons in medical procedures, enhancing their capability. This is
an example of humans and machines working together. The distractors are plausible but not
correct.

Eti%o

Incorrect.

HiRo

Incorrect.

Eti%o

Incorrect.

Artificial Intelligence
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Daughertyf1Wilsonft { AZK+H188) —BhXIARIT 7 i7EA?

Daugherty and Wilson have identified what in their book on Human Plus Machine?

A) m
B)
0

D)

A)

B)

0

D)

imTLER A

Monltormg the robots
i S lesl s
Missing middle
RRARETLLE

Menial low value work

wENESARIIE
Checking the robots work

%Eﬂ;&
Incorrect.

IE#3. Daugherty#IWilson5 T —AXFT AJWMERIE, FEASH, IR ASEEXMNITRIH
PRI T 7 iBE. FIIERIAGIE, (BARIER.

Correct. In writing their book on human and machines working together, Daugherty and
Wilson have identified the missing middle where machines and humans complement each
other. The distractors are plausible but not correct.

%Eﬂ;&
Incorrect.

%Eﬂ;&
Incorrect.

37740
MR REAREET "MERHFS" ?

Which project style is fundamentally 'learning from experience'?

A)
B)
9]

D)

A)

B)
0

D)

BEC
Agile

e iTE=
Waterfall
WSl
Mentoring

LL:ES 52

Autocratic

IFf, ERERICESIRNBETERIMNERFFIANRE, ETFHRE SRR,
Correct. The candldate is asked to recall that agile projects are based on an iterative and
learning from experience model. The other distractors are management styles or waterfall

%EEE
Incorrect.

%Elio
Incorrect.

%EEE
Incorrect.

Artificial Intelligence
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f£DaughertyfIWilsonRIZAE (AZE+H128) &, ERMISULHIRRIIFESIL?

In Daugherty and Wilson's book Human plus Machine, what is described as a desirable
culture?

A)
B)
0

D)

A)

B)

0

D)

RS

Desire to be transparent
BEEEIR

Desire to experiment
RSESSIIIES: S

Desire to be sustainable
w2 "EIRIER"

Desire to be 'right first time'

gi%o

Incorrect.

IEffs, SRMUBRTFNERSFS, MNERFFIZNEFT (ML) FIATIERE (Al) B9z,
TFHIBRUGE, B5AXPEEX,

Correct. An experimental culture is conducive to learning from experience which is at the
heart of Machine Learning (ML) and Artificial Intelligence (Al). Distractors are not relevant to
the book but are plausible.

gi%o

Incorrect.

HiR.

Incorrect.

Artificial Intelligence
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B EEIaRIH BEFET?

What is a computer program that works out where to park aircraft at an airport an example

of?

A)
B)
0

D)

A)
B)

0

D)

BIRERE

Conscious intelligence
BRAATLERE (Al)

Artificial General Intelligence
IRY (55) Ere

Narrow (Weak) Intelligence
Bzt

Automation

gi%o

Incorrect.

HIx

Incorrect.

IEffs, AEERELERBICHERNAINENX - ZRFIREET—IEMESHTSRZIRA, FHIE
FEAEAISEARSEIMAIE AL

Correct. This question asks the candidate to recall the definition of narrow Al - the example is
a machine learning technique focused on one specific task. The distractors are either not Al or
are sophisticated Al that is still not possible.

Hix

Incorrect.

40/ 40
%, FEEHERIENEME TIFRIF EiER e ?

Today, ambiguous and creative tasks are better undertaken by what?

A)
B)
0

D)

A)

B)

0

D)

=S
Algorithms
A
Humans

IIRANEA
Chatbots

BRATLERE (Al)
Artificial general intelligence

Eix.
Incorrect.
Fi. ERERICEALBNSEEERRIBHATIE. TIHTERUSE, BEARER.

Correct. This question asks the candidate to recall what humans are better than machines at.
The distractors are plausible but not correct.

H 2

BlXo

Incorrect.

Eti%o

Incorrect.

Artificial Intelligence
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MTRBAREFBERER, HEEERA.

A% BE [0 =F 3
1 A 21 D
2 D 22 A
3 C 23 B
4 C 24 C
5 D 25 B
6 A 26 D
7 D 27 C
8 B 28 A
9 C 29 B
10 A 30 D
11 D 31 A
12 D 32 D
13 A 33 B
14 C 34 D
15 B 35 A
16 A 36 B
17 A 37 A
18 C 38 B
19 B 39 C
20 C 40 B
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